Major 1 (041)  -  Choice ‘A’ is the correct answer

1. -Which of the following statements is TRUE about precision and accuracy?

A) An accurate measurement is a precise measurement with no systematic error.

B) A precise measurement is an accurate measurement with a small random error.

C) An accurate measurement is measurement with a systematic error and a small random error.

D) An accurate measurement is not a precise measurement.

E) A precise measurement is a measurement with a large random error and no systematic error.

2- What is the result of the following calculation, with the correct number of significant figures?
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A) 8.16x10-3 %

B) 0.008 %

C) 0.008163265 %

D) 8.20x10-3 %

E) 8x10-3 %

3- A copper cube (density 8.96 g/cm3) has a mass of 3.20x10-2 kg, what is the length of its edge?

A) 15.3 mm

B) 3.57 cm

C) 3.57x10-3 cm

D) 0.153 cm

E) 3.57 x103 mm

4. The density of water is 1.00 g/mL at 4.0 oC. How many water molecules are present in 2.56 mL of water at this temperature?

a. 8.56 x 1022 molecules

b. 6.02 x 1023 molecules

c. 1.52 x 1020 molecules

d. 5.11 x 1015 molecules

e. 2.56 x 1010 molecules

5.All of the substances listed below are fertilizers that contribute nitrogen to the soil. Which of these is the richest source of nitrogen on a mass percentage basis?

a.   Ammonia, NH3
b.
Ammonium Nitrate, NH4NO3
c.
Ammonium Carbonate, (NH4)2CO3
d.
Guanidine, HNC(NH2)2
e.
Urea, (NH2)2CO

6.
The elemental analysis of an acid shows that the molecular system of this acid contains: 2.1 percentage H, 65.3 percentage O, and 32.6 percentage S. The acid is

a.
Sulphuric acid, H2SO4
b.
Sulphurous acid, H2SO3
c.
Hyposulphrous acid, H2SO2
d.
Persulphuric acid, H2SO5
eDihydrogen sulphide, H2S

7.
Which of the following pair of elements would you expect to show similar chemical properties?

a.
F and Cl

b.
K and P

c
Na and P

d.
Li and Be

e.
Al and Cl

8.
Which of the following are the correct formula and name of a binary compound formed from the elements: Hg and Cl?

f. Mercury(I) chloride, Hg2Cl2
g. Mercury(II) chloride, Hg2Cl2
h. Mercury(I) chloride, HgCl

i. Mercury(I) chloride, HgCl2
j. Mercury(II) dichloride, Hg2Cl2
9.
When 8 moles of solid potassium chlorate (KClO3) are completely decomposed by heating to solid potassium chloride (KCl), the number of moles of oxygen (O2) gas produced is:

a. 12

b. 3

c. 6

d. 8

e. 4

10.
On heating silver (Ag) and sulfur (S) react according to the equation

16 Ag (s)     +     S8 (s)     (     8 Ag2S (s)

What is the percent yield of a reaction in which 2.00 g silver react with excess sulfur to produce 1.72 g of silver sulfide (Ag2S)?

a. 75 %

b. 86 %

c. 19 %

d. 27 %

e. 80 %

11.
The mass of K2CO3 needed to prepare 2.00 L of a 0.097 M solution of K2CO3 is:


f. 26.8 g

g. 19.2 g

h. 13.0 g

i. 20.6 g

j. 24.5 g

12..  How many mL of distilled water must be added to 10.0 mL of a 

2.00 M Na2CO3 solution to bring its concentration to 0.100 M?

a. 190 mL

b. 180 mL

c. 200 mL

d. 100 mL

e.   90 mL
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